28: Repeated Eigenvalues (sec. 7.5 (continued) and sec. 7.8)

10. Example. Consider the system:

T} —3ay + 2xy

xh —%.’L‘l + 214

(a) Find general solution of the system.

(b) Find solution of the system satisfying x,(0) = 2, 25(0) = 1.

?miw&‘g we found ’Az—l;_ )\l:(:) )W:(O)

Fundomentcl set ! é%“ (1) , te—‘zt(:)*éllk(’;;) }

= = +€ mentel

\t/(a %{k e ot fundamen

< re + ¢ ek i

ﬁ
Genetal solukion L X
-5k
*ﬂ-‘—C © 4+Cy -1t
[romee e (e
t

N e"&"c, + te €, ¢
(‘0— & L . "t" 'l’('t)( ,*k\c

G +(+e +% \C;

I—;((Jc)r-‘l'(e)q




X(0)=(7)

- Xlo)= Y C
Xl = YO C (2\%”_'@ Tk

€,

1() ;( : ?‘/s) oY (o»-—i__;(z',g :)

2 |\ o
det ¥ (0)= ¥ (o) = (-.E i)
A 2




	Page 1
	Page 2

